=lug Test MName (Hwarzley)
Time [=] B BH/OG

1 180 3kl S 20 [0

huhi

Conducteaty: 3.47E-7 mds



=lug Test Mame (Hwaorzley)
Time [5] B BHAO7C)
I a4 165 A0 346 4220

huhi

Conductraty: 1.26E-7 mds



=lug Test Mame (Hvarzley)
Time [=] B BH/0S

1 150 360 240 20 S010

huhid

Conducteaty: 4. 49E -8 mds




=lug Test Mame (Hvarzley)
Time [=] B BH/0S

1 150 360 240 20 S010

huhid

Conducteaty: 2 90E-7 mds




=lug Test Mame (Hvarzley)
Time [=] B BH/OE

I 130 360 2] 20 S010

TE+0 -

huhid

Conducteaty: B 45E -6 mds




=lug Test Mame (Hvarzley)
Time [=] B BH/OE

I 130 360 2] 20 S010

1E+0

huhid

Conducteaty: B33E -8 mds




=lug Test Mame (Hvarzley)
Time [=] B BH/OE

I 130 360 2] 20 S010

L= e A

huhid

Conducteaty: 1.08E-7 mds




=lug Test Mame (Hwaorzley)

Time [=]
I o4 165 2o

huhid

336

420

Conducteaty: 1.48E -5 mds

B BH7O7 (C)




=lug Test Mame (Hwaorzley)

Time [=]
I o4 165 2o

huhid

336

420

Conducteaty: 1. 74E-B md's

B BH7O7 (C)




